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1	Introduction
In RAN #97e meeting, some candidate SAR solutions for NR PC2 inter-band CA and PC2 SUL configurations have been captured in the agreed WF[1], which are listed below.
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And further, the SAR compliance mechanism for both PC2 inter-band UL CA and PC2 SUL combination are agreed to release independent from Rel-15 based on the P-MPR solution.
In RAN4 #98e meeting, the agreements [2] for SAR solution were:
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And in RAN4 #98e meeting, the agreements [2] for SAR solution were:
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In this contribution, we give some further discussions on the duty cycle based schemes to compliance to SAR issue for PC2 NR inter-band CA.
2	Discussion
It could be seen except for the Blind scheme solution, the duty cycle solution get close to the final agreement. The only open issue is how to define the SARratio for the dutycycle threshold calculation procedure is based on formula (1) as above.
Due to SARratio will not be reported, so SARration could be derived by some calculations, and also it is implementation related parameters due to SAR effect for different band at different frequency are different which depends on implementation such as antenna configurations for each bands.  The main idea of Option 1 is to reuse the maximum dutycycle capability reported by each band for PC2 inter-band DL CA. Considering the dutycycle threshold calculation formulation may be introduced in the specification, more clear for the SARratio calculation is benifical.
Proposal: [Formula (2): SARratioNR, x = 50%/DutycycleNR, x ; SARratioNR, y = 50%/DutycycleNR, y] is selected, i.e. Option 1.
3	Conclusion
In this paper,  we give some further discussion on the applicable schemes to compliance to SAR issue for PC2 inter-band FDD-TDD and TDD-TDD CA.The conclusions are summarized as follow:
Proposal: [Formula (2): SARratioNR, x = 50%/DutycycleNR, x ??; SARratioNR, y = 50%/DutycycleNR, y] is selected, i.e. Option 1.
4	Reference
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* Duty Cycle based solutions
- Option 1: Report the duty cycle capability per band combination (CTC, Intel, ZTE,
Huawei, Apple)

* Main issue commented by companies : Unequal responses for the SAR effects in different
band frequencies.

- Option 2: Report the duty cycle capabilities per band (CATT, Xiaomi, ZTE, OPPO, vivo,
CMCC)

* Main issue commented by companies: Too many pairs of signalling's, more detailed signalling
design and values need to be provided, especially for the reference band.

* Blind scheme solution (Ericsson, Verizon, T-Mobile USA)

- Further discussion on whether to consider (Scell) power dropping behavior due to
power prioritization for UL CA and SUL configurations

* Other solutions/options are not precluded
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